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In the accompanying diagram, MINT is a rectangle
and MPKT is a square.
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IfMT =6 and TN = 14, find PN.

In the accompanying diagram of rectangle ABCD,
AD=12and AB=5.
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What is the length of diagonalﬁ?
In the accompanying diagram, ABCD is a rectangle.
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IfDB = 26 and DC =24, find BC.

Ifthe length of each leg of an isosceles triangle is 17
and the base is 16, the length of the altitude tothe
base is

What is the length of the altitude of an equilateral
triangle whose side has length 4?

Find, in simplest radical form, the length ofa diagonal
of a square whose side is 2.

In right triangle ABC, m£C=90", AC=6,and

AB = 10. Find the perimeter of AABC.

Ifthe diagonal of a square has a length of 42, find
the perimeter.

Ifthe perimeter of a square is 8, which is the length of
the diagonal?

In right triangle ABC, 4 Cis a right angle and
msA =30°% If AB=20, find BCand AC.

Each base angle of an isosceles triangle has a
measure of 30°, Ifthe length of the base is 36, what
is the height of the triangle?
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The perimeter of an equilateral triangle is 12. What is
the length of each altitude of the triangle?

If the sides of a right triangle are 8, 15, and 17, what is.
the tangent of the smallest angle?

The lengths of the sides of a triangle are 3, 4, and 5.
What is the value of the sine ofthe larger acute
angle of the triangle?

In right triangle ABC, ifmeC=90°and sin A =3,
cos B is equal to

Complete the following to make the sentence true:

. , ?
sin 309 =cos

Complet'e‘the following to make the sentence true:

R ?
sin 757 =¢08 e

Complete the following to make the sentence true:

o_ . 7
cos 207 =sin

Complete the following to make the sentence true:

4] . H
cos 807 =Sin e

Find the measure of £A to the nearest degree if
cos A =.9608.

Find the measure of £Z.A to the nearest degree if
sin 4 = .6933.

Iftan A = %, ﬁnd m£A to the nearest degree.

In right triangle ABC, m4C=90%", hypotenuse
AB =10and leg AC=6. Find, to the nearest degree,
the measure of £A.,

Dk

The perimeter of a thombus is 20 and the length of
the shorter diagonal is 6. Find the measure of an
acute angle of the rhombus to the nearest degree.

In isosceles SMABC, AB=BC = 18 and m£A = 58°,
What is the length of the altitude to AC?

‘calc wlachor

A guy wire attached to the top of a pole reaches a
stake in the ground 16 feet fromthe foot ofthe pole
and makes an angle of 55% with the ground. What is
the length of the wire to the nearest foot?

A television tower is 160 feet high and an observer is
120 feet fromthe base ofthe tower. Find, to the
nearest degree, the angle of elevation ofthe top of
the tower from the point of observation.

Fromthe top of a lighthouse 140 feet high, the angle
of depression of a boat out at sea is 22° What is the
distance fromthe boat to the base of the lighthouse
(at sea level) to the nearest foot?



CLEARLY SHOW ALL STEPS ON A

HELPFUL HINTS:
SEPARATE SHEET OF PAPER!!

*Use degree mode.
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Check #1-12 Check #13-28 *Altitude is another name for the height of a figure.
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2\/5 5 5 15 OR use pattern given in 6.2 notes/warm-up.

2\/5 10 *Rhombus: a paraIIeIog.ram wit'h 4 equal sides,
15 diagonals are perpendicular bisectors.

2\/§ 15.3 *Use special triangles when possible.

6\/§ 16 Write answers in root and fractional form!!
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13 53 *Example of an

15 60 angle of depression: angle of elevation:
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